Notation Scientifique (I)

Iranscrivez chaque nombre ci-dessous en notation standard ou scientifique,

0,000000075 = 51x 1077 =
0,006 = 46x 107 =
327 x107% = 23%x10°¢ =
0,000016 = 9,286 X 107 =
2,2 %1073 = 0,003654 =
0,0000585 = 744 %X 10™* =
8,672 x107% = 798 x 1073 =
2,176 x 107* = 45 % 107 —
506 x 1073 = 0,0000000913 =
9,01 x10™® = 0,00000229 =
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Notation Scientifique (I) Solutions

Iranscrivez chaque nombre ci-dessous en notation standard ou scientifique,

0,000000075 = 7,5 x 1078 51x%x1077 = 0,00000051
0,006 = 6 x 1073 4,6 x 107* = 0,00046
3,27 x 107 = 0,0000000327 2,3%x107° = 0,0000023
0,000016 = 1,6 X 107° 9,286 x 107 = 0,000009286
2,2%x1073 = 0,0022 0,003654 = 3,654x%x107°
0,0000585 = 585x107 744 x107™* = 0,000744
8,672 x107% = 0,008672 7,98 x107% = 0,00798
2,176 x 10™* = 0,0002176 4,5 % 107° = 0,0000045
506 x107° = 0,00506 0,0000000913 = 9,13 x107°
9,01 x10® = 0,0000000901 0,00000229 = 2,29x10°°
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